9 by 9 Kakuro Addition Puzzles

You can use the digits 1 to 9 to fill the empty cells so that the sum of each
horizontal block of cells equals the clue number on its left, and the sum of

each vertical block the number on top. Each digit can only be used once per
block!

10 12 35 13 26 16
19 21 6 7
10
18 17
6 7 | 5
16 13
27 3 27 5
15 11
6 4 | N7
11 16
13 9 12 1
11 14
3 13 2 9 12
22 13
4 6|5 4
17 1 9 22 9
12 14 15 9 9 16
11 11 15
15 8 13 6 10
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Answers

You can use the digits 1 to 9 to fill the empty cells so that the sum of each
horizontal block of cells equals the clue number on its left, and the sum of

each vertical block the number on top. Each digit can only be used once per
block!

10 12 35 13 26 16
04178 X867
Slels 77501 4

S06 171315085

654N 74

U219 (5% 81117
NEREEADNEAFEERPND
1417 650643
V1197 21815109

12 14 15 9 9 16
15 7 8 13 7 6 10 1 9
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